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WUy - 3 / SECTION - A
R wy / Objective Type Questions

gy §a9T 1 ® 100 7% % 9w gy & vy uw fawes B v § faad @ v

it t s g g7 v ant Reww st omMm vz v Rfdaa w5 fe
so oyl wr 3T i 50 x 1 =50
Question Nos. 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any
50 questions. 50x1=50
1, Tl &m0 o wefe w1 we@ 3w woges w0 R 2 V

(A) T T I B) frae oo 39,

(C) wwe T IR (D) wia =afw anafas g

What is the most appropriate measure of the economic growth of a

country ¢

(A) Gross domestic product

(B} Net domestic product

(C) Gross National product
(D) Per capita real income

2, P d @9 ufa ae & e R e

)

{A) NDP_. (B) NN‘}jﬁf

(C) NDP,, (D) - NNPga

Which of the following is equal to National Income ?
(A)  NDPg. (B} NNP,

(C}) NDP, (D) NNPgq

3. P ardyrell # ¥ @ weamorard fEmum & T € 2
(A) ﬁt,ij/ﬂf'/ (B) urda
(©) (D) &

r

Who ab;;rmng the following economists is not of the welfarist

concept ?
(A} J.B. Say (B Marshall
[C) Pigou (D) Cannan
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D o

T A BIR Cft awqd €, T8 A ok By ¥, Fale A4 S C R agg
%:Hﬁﬂmﬂiﬁaﬂnﬁaﬂmn’fnu:wnmaw%m?
A it wxgatl A, B it ¢ ) uin fig AT
(B) T AR B Al F el e ¢ aeg g § gfg @i
(C) a@ﬁﬂhﬁﬂﬂﬁﬁiﬁ:ﬁﬂ@ﬂ:ﬁﬁ?ﬂa@ﬁﬂﬁﬁ?{ﬁaéﬁ
(D) maﬁcﬁnﬁﬁmﬁmﬁwﬁqamﬁﬁnﬁqﬂ:#ﬁ

A, B and C are three commodities, where A and B are
complementary, whereas A and C are substitute goods. Then what
will be the effect on @emand if the price of commodity A increases ?
(A) Demand of all the commodities A, B and C will fall

(B} Demand of commeodities A and B will fall, whereas demand of
C will rise

{C) Demand of commodities A and C wili fall, whereas demand

of
B will rise '

(D) Demand of commodities Band € wil
A will rise

5. ﬁa:ii%aﬁaaﬂﬁﬁmﬂ:ﬂfmhﬁnﬁﬁwhaﬂq?ﬂﬁm%?
(A} Wea o qfads (B) ¥ # qftadq
(C)  *fa aur & A hads (D)  53H & w5 T

A change in which of the following does not cause a change in
demand ?

| fall, whereas demand of

(A)  Change in price

(B)] Change in income

(C)  Changes in taste and fashion
(D) None of thege

B @ﬁﬁ'ﬁﬁﬂ‘aﬁaﬁﬁrwmmm%?

(A) g e R (B) _uzd'&n?ﬁi/
(c) T e (D) HfR & s 2
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What effect does a price rise have on the demand for ‘Giffen’
goods ?

(A} Incrcases (B) Decrecases
(C) Remains stable (D) Becomes unstable
,  frafafigs # @ i @ K om0 F g eR-sgg Ed R e
(A) MC,=TFC,~-TFC . (B) MC, =AC, -AC, ,
(C) MCy =AVC, - AVCy (D)  MC, =TC, - TC, _;
Which of the following is the correct formula to calculate marginal
cost ?
(Al MC =TFC, -TFC, , (B)] MC, =AC,—ACy_,
[C) MC,=AVC -AVC,_ , (D) MC,=TC,-TCy_,
8. e, =0% 3¢ R f% awg @ win
() oia: SRGR R B) Tofo: FeirEeR
(C) W EEen & (D) 1§ wrEe @
e, = 0 means the demand for good is
(A)  perfectly elastic (B) perfectly inelastic
(C} less elastic (D} unit elastic
9. N WY WEM G @ ag @ fima qu qfd i unr & g g /@
e S & P |
(A) =in % frag B WHhag
© 9ff %1 Pram (D) 4% wER
Other things being the same, what does the positive relation
between the price of a commodity and quantity of supply indicate ?
(A) Law of demand (B)  Elasticity of supply
(C} Law of supply (D)  Supply function
10. wu-fyedy fag 7@ Ioa= Ban & 9
(A) TR>TC (B) MR>MC
() TR=TC (D) (A) 3R (B) EFI
25A/12/103 . Page5/40
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11.

12,

&

[ 326

The break-even point arises when

(Al TR >TC (B} MR > MC

(C) TR=TC (D) Both (A) and (B)
m%%mﬁmﬂmmnm%mmmﬁ?

(A)  swisraeen &t / = e 2

(B) wm A il W sveleraven & warfan A1 2

(C) oarefegazen ¥ 3-11@ fafa gt 2
(D) ¥ & w;j:t/

How does a deficit budget affect the cconomy ?

(A) The economy comes out of recession

(B) More quantity of money flows into the €Conomy
(C)  More investment wil] be in the economy

(D) All of these ' .

T °rer 41 &1 & 2

(A) U9 =49 vd oo Wiy =571 3

(B) gdra =4 wd i wify = MRE}

(€) Fafa at s =1 s

(D) 56 =7 1 o Ny +1 31=0

What is revenue deficit ?
[A) Difference between revenue expenditure and revenue receipts

(B) Difference between capital expenditurre and capital receipts
(C) Difference between export and import ]

(D) Difference between total expenditure and total receipts

Fﬁﬁmmaﬂﬁﬁﬁamﬁﬂsmﬁq-mﬁﬂmiﬂﬁmmﬁ%?

(a) wdft i ARy (B) weht s Hify
(C) (A) AR }Blﬁﬁ (D) F A W
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Which monetary policy is adopted to control inflationary gap ?

(A)  Dear money policy (B) Cheap money policy
(C} Both (A} and (B) (D)  None of these
14, froafafiga d SR-w1 s @@ & 7

a) e fafm @ e futo s g fn o 2
@) =gl B @ 1 Rufor s ofedl (R gz afn ot off)

& YR 9T BrAT &
(C) (A) 3R (B)
(D) ¥ | w7

Which of the following statements is/are correct ?
(A}  The fixed exchange rate is determined by the government
(B) Flexible exchange rates are determined based on the market
forces (demand and supply of foreign currency)
(C)] Both (A) and (B)
(D) None of these
15, fitdipa Iearea B fasieen 2
(A) e wwifusrd sl
(B) Hael AAMUHRT

Differentiated product is a characteristic of

(A) only monopolistic competition

(B) only oligopoly

(C) both monopolistic competition and oligopoly
(D) none of these _

16. Eﬁ@-ﬁm&mﬂwﬁmﬁﬂ;“ﬁﬂ“mﬂ???

(A) I
(B)  ITWIM + gl =3
() fam

(D) I + PR+ gl &l + Y% fal (x- M)
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17.

18.

(326 |

in an ope<n
What is/arc the component(s) of aggregatc demand

economy 7
(A} Consumption

(B) Consumption + Government cxpenditure

(C) Investment o
(D) Consumption + Investment + Government expenditure
export ( X- M)

g 6 seferen § 7 gl A qm @) Prefafaa § frg AW 3 T
AT 8 ?

(A) o TSR HAHH (B)  3Ted VMR FEEH

(€) m:mm}e}uﬁf (D) FH A HE T

In the ]{e},rneman economy, the condition of deficient df.‘II‘lE.ﬂd is
called by which of the following names ?

(A) Full employment equilibrium

(B) Under-employment equilibrium

(C) Both (A) and (B

(D} None of these

fafafead R Fum wdi 2 2

(A) C= f(Y)

B C+S8=C+1

(C) wefeyawren ¥ WA F1 @geH T (V) = IEA Hl FeH & (0] =

TR &1 Hed

(D) @ fy/"

Which of the following statements is correct ?

(A) €= f(Y)

(B C+S8=0C+1]

(C}]  Equilibrium level of income (¥) in the economy = equilibrium
level of output (O ) = equilibrium level of employment

(D) All of these
BiharboardQuestionpaper.com
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16. frgs T 31T %1 s@iEa & agen wary w2

(A Y B

(c) el (D) Ut fE

Who has made first attempt of National Income Accounting ?
(A) Keynes (B) Kuznets

(C) Gadgil (D) Gregory King

afifie D faera % amt  Prfafee § @w-m waa @l R 2

(A srferaeen wda g dem i fRufa F wd

(B) Mﬁmwmmm#mﬂﬁﬁ?ﬁ%
() (A) I (B)EF_

(D) T 8 =E 7

which of the following statements about classical theory of

20.

employment is correct ?

(A) The economy always remains in a statc of full employment

(B) There is no possibility of overproduction or underproduction
in the economy

(C) Both (A) and (B)

(D) None of these
21. AR P, dqer $ma g 3 meﬁﬂ?réia‘tmﬁqﬁﬁf&rﬁiﬁm

gt ?
(A) P, = Pﬂ-f (B) F, > P
cf P, <P, (D) ¥ A w1

If P is the equilibrium price and P_ is the market price, when will
g
the situation of excess supply arise ?

(A) P =P, (B P, >F,

N f th
€ P <P, (D) ﬂﬂl_':ﬂ ese

r

22 m%ﬁmﬁ@ﬁﬂmm%mg?

(A) UEE A (B) TR
(C) oW = & (D) ¥ @ = A8
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ve purpose
On what docs the demand for moncy for apcculatw P

depend ?

(A) National income (B)  Price level

(C) Market interest rate (D) Nonc of these o ?
03 7t dimiw sgutn xafl (MPC) 0-7 B @t Hiwia w=d Wi (MPS) #1 &

A) 07 0-25

() 03 D) -03

‘:Hl"_tat will be the marginal propensity to save (MPS) if marginal
propensity to consume (MPC| is 07 ?
(A} 07 (B) 025
) o3 (D) -03
24, P i fag mu utn i & @ W E AR R ?

E
F
G
> X
i 1 |
(57¢ )
(aA) F | (B) E.
€ G (D) H |
Which of the demand curves given in the figure is more elastic ?
Ya

£ E

i

= F

2| g ©

- » X

Quantity demanded
[ in units )
(A) F (B) E
© G D) H
I 25A/12/103 J _ Page 10 / ﬂ
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E yra | Aifesw fife =1 wufs R 2 2
(a)  refsrEen A qe feawn @
B A g
(C) saTqT A T
(D) AUF FUEEE 39T FE

What is the primary objective of monetary policy in India ?
(A) To bring price stability in the economy

(B)] Employment generation in the country

(C} To increase trade surplus

(D) To generate greater tax revenue

%) feffer i FH-meETA R ?
(4)  Ha H Y O sErE o g
B) A1z o fyd dy gz A
(C)] OD (other deposits) § RBI % wig 291 % wtHr $Ht 9w Tfly ot
et 2
(D) e O A wET TR W@ e g & i @

Which of the following statements is true ?
(A) Supply of money is a flow concept

(B) Notes and coins arc legal tenders
(C)] OD (other deposits) includes deposits of the government of

the country with RBI also
(D) Supply of money includes stock of money held by the

government also

sarEfye #) gra fog FR AT w9 ¥
(A) 3% g0 WIH w91 i d HW

(B) 3% gro ww W iy @ HAfue-
(€) IA% g WH T AR F TR

D) @ A ®E A

'S5A/12/103
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Loans offered by commercial banks are

(A) Less than the deposits received by them
(B}  Morc than the deposits received by them
(C}  Equal to the deposits received by them
(D) DNone of these

28. g ¥ /O ) ITcreud Y 9 wwHA R o

(A) 9 =gt (B) Ted W gt i gfz =&
(€©) wwil vinfoal e (D) Tl whngfeat Jse
How can the central bank increase the availability of credit ?
(A) Increasing repo rate

(B) Incmaﬁng reverse repo rate

(C) Buying government securities

(D)  Selling government securities

==l EU AT 9TE TET T LRR (Legal reserve ratio) #1 féam sgem &
(A)  SLR (@Wifafus T s9[) (B) CRR (7% ®19 HAUTH)
(C) W= (D) o o =

The part of LRR ( Legal reserve ratio ) kept by the banks with
themselves is called

(A) SLR ( Statutory liquidity ratio )
~ (Bl CRR { Cash reserve ratio )

(C) Repo rate

(D) Reverse repo rate

30. 9% @ Fm W F+m o =mafis 9 S o Tl sewmsasit %
e U 3w g, ST S & ?

(A) MR : (B) fad @i w
(C) %2 ®W UM (CRR) (D) wifafrs aeen 31 g9@ (SLR)
25A/12/103 Page 12 / 40

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

| 326 |

The rate at which central bank lends money Lo commercial banks
for immediate cash requirements is called

(A) Repo rate

(B) Reverse repo rate

(c) Cash reserve ratio (CRR)

D) Statutory liquidity ratio (SLR)

3l a@iﬁﬂwmmmﬂa@waﬁmmﬁ Wrmﬁ
(A) SR T B) Fo wR At
() fafe aegd (D) YT Y |
What are those goods with negative income effect and positive price
effect called ?
{A) Normal goods (B] Inferior goods
(C) Giffen goods (D) Complementary goods
32, TN HRT R
(A) Wi QR - == Y
(B)  wrafirs wTE + =T T
(C) &l HEE H HY - FHel §ER # 9™
(D) 3 A HIE T

What is fiscal deficit 7

(A) Primary deficit - Interest payments

(B) Primary deficit + Interest payments

(C) Total expenditure of the government — Total income of the

government
(D) None of these

33, amaet @ @ B § @ Rl o e @ 2
(A)  Fg TER F (B) =T W& &l

(C) Mﬁwmﬁ?ﬁ”ﬁﬁﬁaﬁéqﬁ
Who among the following gets the benefit of income tax ?

(A) Central government

(B) State governments
(C) Both the Central and State governments

(D} None of these
[ 25A712/103 e Rt
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34. Pefafiga § @ w) goe wift ol 8 2
(A) | &) a}@?‘l s ) fakell seEE
() wrdaf® awil & @1 (D) woghi me
Which of the following is not a revenue receipt #
{A) Recovery of loans
(B) Foreign grants

(C)  Profits of the public enterpriscs
(D) Wealth tax

35. W@ ww, N gER ¥ fre fed afwemf s g T w0, s

(A) T =Y B) Yofima =

© @M@ " () A

The expenditure which does not create assets for the government is

called

(A) Revenue expenditurec (B}  Capital expenditure

(C) Both (A) and (B) (D}  None of these

36. fafafaad @ S s s adl g ?
(A)  IER UeH_— (B) @wIfd #
() e (D) Ha1 HT
Which of the following is not indirect tax ?
(A)  Excise duty (B}  Property tax
(C) Customs duty (D)  Service tax
37. ET9N Yoy grafud 8

(A) YR aTER § (B)  #rE@wreEf | 8

() wfaddeefliamma (D) g ﬁf’ﬁiﬂf, o

Market price is related to
(A)  Short-run market (B) Leng-run market
(C) Very long-run market (D) All of these

25A/12/103
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38, ovaqedd =€ WhRAT B wal
(A) SRR YT dger #) Rufy F gur g R
(B) THR WG Wl uz @ gea faeel gz O v 3 R
(C) (A) 3R (B) a}ﬂ
D) T & F T

Devaluation is the process in which

(A} the adverse balance of payments situation improves

(B) the government itselfl depreciates the value of its domestic
currency in terms of foreign currency |

(C) both [A} and (B)

(D) none of these

39. %Mwﬁﬁﬁﬁﬁmﬂﬂmﬁuﬁaﬁﬂmﬁmﬁ & gu g 2, @
@ wHR 61 fafrrg g0 =t wer @
(a) for fafma = () wrefieh fafima @
() waftm awdt fafm 2t (D) s'—rﬁﬁm’/ﬂ,
When the foreign exchange rate of a country is determined by
market forces then what is this type of exchange rate called ?

(A)]  Fixed exchange rate

(B) Flexible exchange rate
(C) Managed floating exchange rate

(D) All of these

40. e 8 @ 919 gaEdE T A €9 9 Waw @ ?
(A) sEehifaed gaE (B8) whifawrt gEE
(0 (A s (8) 3, D) Y P

Which of the following % a danger from fiscal deficit ?
(A) Deflationary pressurre (B] Inflationary pressure

(C) Both (A) and (B) (D) None of these

LEEM 12/103 Page 15 / 40
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41. = %o amy R A W ol A W wE 9gm

(A)  3itEm amm (AR) ¥ e smoh

(B) aitma amm (AR) ¥ gfg ®f

(C) aivwa 3w (AR) M f@r @M

(D) 3ft|a 3 (AR) W H wra 7d

When total revenue is constant, what will be the effect on avcrage

revenue ?

(A) Average revenue (AR) will fall

(B) Average revenue (AR) will increase

(C) Average revenue (AR} will also be constant

(D} No effect on average revenue (AR)

42, MFAsimsaarm s mdR @ H A @2 7 @ fag e

BT TWIar & a9
(A) Hea > Himra 3mm (B) W = HH T
(C) ¥ < dwra W (D) T8 & =18 T

If a firm's total revenue curve takes the form of a straight line
which passes through the origin, then

(A} Price > Marginal revenue (B) Price = Marginal revenue
(C) Price < Marginal revenue (D) None of these

43. 3fR F& M 1,00,000 Fo & I 20,000 A2 = Fra1 & 99 3iga 3™
TS B |
(A) 1,00,000 %o (B) 20,000 %o
(C) SEV)(. (D)  1,20,000 %o

If total revenue is Rs. 1,00,000 when 20,000 units are sold, then
the average revenue will be equal to

(A) Rs. 1,00,000 (B) Rs. 20,000
(C) Rs.5 " (D} Rs. 1,20,000
Psanz2/ioa T Page 16 / 40
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a4,

45,

[ 2547127103
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w o ) T A wfus a Few aw fwa w50 @ 4w o 2, A
da-38 78 494 St R, @ R i e w4 w6 2

() e A F i (B)  vEa mm @ wn

(C) H\A I & Iy _AD)— %

A firm 1s able to sell more rfuahtil.}r of a good only by lowering the
price. Then what would be firm’s marginal revenue, as it goes on

selling ?

(A]  Greater than Average revenue
(B} Less than Average revenue
(C) Equal to Average revenue

(D) Zero

few e foa & sewrgs &1 Heea fre fag w0 wm g 2 2
N

e K
E}. M _/ MR

e Ud 3

o

e (38 )
A} K (B] L
(€) (A) 3R {B;r@'l/ (D) ¥ & Fré AEl

In the given diagram, at which point is producer's equilibrium

achieved ?
In the given diagram, at which point is producer’s equilibrium

achieved ?
Y4

Q

Cost and revenue
fin Ks.|
r’l
s
=
=
b

Qutput (in units)
A) K B) L
(D) None of these

(C] Both (A) and (B)
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46. rafufea § & o9 sar & @l ) i i gfg @ ahom 2 2
(A)  qfd % o Tl AR ey
(B) Eﬁﬁﬁmﬁmhm
(C) i % R
(D) I A iy

Which one of the following is the result of increase in price of
factors of production ?

(A) Right‘n;ard shift in supply curve
(B) Leftward shift I Supply curve
(C) Expansion in supply

(D) Contraction in supply

47, P R 8 o Ss 8 s 5. 197 e B S 2 5

s
S
AS S
B

O Q Q ?
S B T (g )

(&) w0 o w © (B T iy
© vRADCIRT O wawh

BiharboardQuestionpaper. com


https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

[ 326 |

In the following figure, the supply curve shifts from 88 to 8 8, due

to what reason ?

H ¢
g
g 2
¥
=
&

o Q Q,

Quantity supplied
(in units)
(A) Decrease in taxes (B} Upgradation of technology

(C)  Fall in the price of inputs (D) All of these

48. W ¥ Ted waw 3R Fem # waEar hae ava 2
(A) HAcyrafy . B) Zufafy w
() (A) 3N (B) ?’Ji _ (D) A4t (A) AR T (B)

Freedom of free :ﬁt.r:,r and exit for firms is only possible

(A) In short-run (B} In long-run

(C) Both (Apand (B) (D} Neither (A) nor (B)
49, fFrafafaa & 8 wH-H &9 figa &3 9 o 6 T8 2 2

(A) TR=PxQ (B AR =T7gq

(C) IS G JTen Win aiﬂ%_ dmr AT = e

Which of the following is not a charactenstic of a price taker firm ?
(A) TR = Px @

(B} AR = Price

(C) Negatively sloped demand curve

(D) Marginal revenue = Price
50, fif¥s w1 fativnmg &4 ITA BT R 2

(4) =g F $a qg1 A TG A A Tged 2

(B) a%q @t Hmd dg4 d & uin gzl 2
(C) (A) @l (B) zr‘ﬁ/qE
(D) ¥ & = T
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When does Gilfen's paradox arisc ?
(A)  When demand for a good increcases as its price increases

(Bl  When the demand for a good decreases as its price increases
(C) Both (A) and (B)
(D) None of these

S1. R wiwemm 6t wfiwia @ s wg oft 8, 7w g am B
(A) = i g wan Sue
(B) A A i gw waN A
(© A g

(D) W H 3N FgF T30 I

If marginal rate of substitution is me:re.aamg throughout, then the
indifference curve will be

{A) downward sloping convex

(B) downward sloping concave

(C]  downward sloping straight line
(D)  upward sloping convex

52. mﬂﬂ@mwﬁﬁlﬁmﬁrmmm%?
(A) mnmﬁqﬁﬂm{aq (B) wiwl =g ° w0 w0k
(C) A]aﬁt{m?fm (D) 3 A wrd A

How can fiscal and budgetary deficit be reduced 7
(A) By increasing tax revenue

(B) By reducing government expenditure
(C) Both (A) and (B)
(D) None of these

53. IMM %eH C= C+CY,H C wd Ccwmm: =1 § 7
(A)  TETEd I9dm vE dama Ioam ygfy
(B) Hiwa Iuwm g va wmaw amim
(C) Tt 399 ud fma Ind wgf
(D) ¥ B FHi§ T
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In the consumption function C = C+CY, what arc C and C

respectively ?
(A) Autonomous consumption and marginal propensity to

consume
(B) Marginal propensity to consume and autonomous
consumption

(C) Total consumption and average propensgity to consume
(D) None of these

54. WMW%‘#H@%M%
(A) A& U S (B] Iee AW U AW

© e 'S'V (D) IR s

The shape of average product curve is
(A) like the letter U’ (B) like an inverted letter ‘U’
(C) like the letter S’ (D}  like an inverted letter S’

55. ﬂ&ﬂhqétﬂﬁaﬁaﬂzﬂﬁaﬂtm'wﬁﬁmamﬁiﬁ
(A)  IE g a v § g A
(B) ¥ed o @m fig w1 0 wen # g &vh
(€) Twa wam ey A i wmn R el

(D) A =i TE

If both the demand and supply curves shift to the rightward in the

same proportion then

(A) the price of the
increase

(B) the price will remain constant but the purchased quantity
will increase

(C) the price wil
remain constant

(D) none of these

commodity and purchased quantity wall

| increase but the purchased quantity will
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56. frw wen % ol f AdE@ § MC = MR = AC=AR B R ?
(A} weiftrstl) wd B) il v
(Cy ol whearfl ‘Fﬁf,f (D) WA w A

In which type of firms is MC = MR = AC = AR in the long run 7
(A) Monopoly [irm

(B] Oligopoly firm

(C) Perfectly competitive firm

(D) - None of these

57, frafafea 8§ @ ¥ ohify el snfegamen & fore wdun augs it 2 2

(a) wfaehifa (B) bt whify

(C) ot whifa (D) s whfa

Which of the following inflations is most suitable for an economy ?
(A) Hyperinflation - (B) Creeping inflation

(C) Walking inflation (D) Running inflation

S8. ‘OAd I W ST SUF AW F R R 7
() FH=n B) =

© =Em— ©) e

What is the value of interest rate in Liquidity trap’ ?
(A)  High (B)] Low
(C) Minimum (D) Average

59. HH gRI Yg v fFe wE w1 wvm 2 e

(A) il AT B) fBr amm /”f
©) % s . (D) FEhE s
The machine used by the firm is what type of input ?
(A) Variable input (B] Fixed input
(C} Total input (D}  Technology input
| 25A/12/103 Page zﬁf
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60.

61,

62,

| 326 |
#F & F I F 98 39 o) Fe oowaiait @ 2 & o awe @@ g,
HEETd B
(A)  orfafuE aveEm e (B) e siifaga stHT STA9E
(€) el aem fe (D) wu @ wi
That portion of a bank’s total deposits which the bank keeps in
cash to pay to its depositors is called
(A) Statutory ligquidity ratio
(B} Cash reserve deposit ratio
(C) Open market operation
(D) None of these

frfefied § @ 17 svafas fam @i 2 »
(A) ¥ Elem (B) quft et witegm
(€) wa=i =1 fmtor (D) ¥ ¥ FgETa G

Which of the following is not a real investment ?
(A} Buying share

(B} Buying an old factory

(C} Construction of building

(D) Opening a deposit account in a bank

fre o @S- HUF GE R ?

(A) %\ 1 A Ieres gr E A

(B) =m & win 3Gt Ieewa W it A &

() mﬁﬁmmﬂfﬁﬁmw{ﬂﬁﬁ%

) wHIAP

Which of the following statements is correct ?
(A] The demand for labour is made by the producer

(B) The demand for labour depends upon its productivity
(C) The marginal productivity of labour is its maximum wage

(D)  All of these
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63, wpliEs w1 i g BT R 7

) ATERR (B) EIEER

() ot SR (D)  qUTeTAT AR
What is the type of demand curve of Monopoly ?

(A]  Inelastic (B) Elastic

(C)  Perflectly clastic (D)  Perfectly inelastic

G4, m%mﬂ?a‘mﬁ‘ﬁ-ﬁﬁ

e .ef‘ Py
N TRy B g
P E.
<y + ;,i D+ 5
u X
The slope of the budget line is
e B 5
(A) - P_u . (B) P
' Py
() I *F;; o)+ '}3—;
65, Iqdiii w1 woars g e e 2
() PR B)
(c) fem (D) Tl
Who gave the ordinal theory of utility ?
(A)  Marshall (B) Pigou
(C) Hicks (D)  Ricardo
6f. (udlafud 4 299 fRR @ R 2
(A) o o fifpam (B) &

(© w9 ur B e (D) %) = fem

E
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67.

68.

69.

[ 326 |

which of the following is not a fixed cost ?
(A) Insurance premium (B)] Interest
(C) Cost of raw materials (D) Factory rent

frorfefiaa 3§ @ ey Srma Pafor wiea § @ g 1 Rear e &2
(A) frarpgl— (B} STH

—

(c) "W (D)

f----#-‘.-' 't L "
Who .Eiﬁ'l%ng t;h: following gave the concept of time element 1n price

determination process 7

(A) Ricardo (B) Walras

(C}] Marshall (D) Pigou _

frfafga 8 & fea aem ¥ gea H9 3 Iare AfhE gal @ 2

(a) ol wfeaifirn B) FeuftER

o w8 W
In which of the following markets output is  higher and prnce 18
lower ? |

(A) Perfect competition (B) Oligopoly

(C) Monopoly (D) All of these

fﬁnﬁhﬁaaiiﬁsa*aﬁn:am1ﬂuﬁhﬁtanmngnﬂjai:aﬂhﬂaﬁﬁazniﬂﬂl!'P

(A)  THIHHR (B) @Tﬂw
() ol Rt (D) T A FNR

In which of the following market conditions is the Average revenue
n whi

curv lastic ? -
) :Driﬁ Iy (B) Monopolistic competition
. onope (D) None of these

tition
:gF!;::;::{::;ﬁiﬁ'ﬂﬂﬁﬂﬁ 3 e Frafofea & fF wie B

70.
T8 ?
(A) H‘Fﬁeﬂwﬁﬂmh (B) grEats 83 & ¥
() drfg el &5 (D) 3“§;foﬂ‘f,_,____
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| 326
Which Banks are covered under the sector of Banking Ombudsman
Scheme ?

(A} Al scheduled co-operative banks
(B) Public sector banks

(C) Regional rural banks

(D)  All of these

71. WeGs W B Yeas sufee wE Wi @ it @ @i ggen s R
(A) Iearfed SxgHl W IES H
(B) &9 MU Al R fashmat ®
(C) g & g |
(D) g wfdE FE Tt |
Direct tax is called direct because it is collected directly
(A) from producers on goods produced
(B) from sellers on goods sold
(C) from buyers of goods
(D) from income earners
72. @ & AGEFASH B Y FE F oo wR-d et sogeft € 2
e e———
(A) e Hifel (B) wEwS faao Hifeal
(@ Tadrg Aifeat D) faeeh Afewad
Which policies are useful to reduce inequalities of income ?
(A) Monetary policies (B) Public distribution policies
(C) Budgetary policies (D) Foreign policies
73. o« G A9 39 ¥ At @ St § a9 giomm w13 g ?
(A) W= AftEw (B) HTE = wg S
) LCrm = (D) T =Y
When government spends more than it collects by way of revenu®
then what results ?
(A) Budget surplus (B) Budget deficit
(C) Ca-.pital EKPEnditUI‘E I:D] Revenue expenditure
—
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Wﬁw%m@qﬁﬁmﬁ%%ﬂwmﬁiﬁm

T4.
Al At s g
(a) Tagsht =o fEw B) Ffmg e
(cy frafa fasm (D) e P
Which is a popular method mostly used to resolve disequilibrium of
balance of payment ?
(A) Foreign debt control (B) Exchange control
(C] Export control (D) Import control
75. %o B ATE 9% F ATHR 2
(A) U-HTHI H B) H= & H gH A
(C) Jedl S-ITHN Fl (D) x-3& % gwie &fos @idl @
The shape of total fixed cost curve is
(A) U-shaped
(B] Downward sloping
(C) Inversely S-shaped -
(D) Horizontal straight line parallel to x-axis .
76. #H-8 A g% MC 9% g0 ITF Fa fag T TH gAL FI Fed & ?
(A) AC 3R AVC (B) AVC 3R AFC
() AC 3l AFC (D) AC 3T TVC
Which two curves are intersected by MC curve at their minimum
points ?
(A) AC and AVC (B) AVC and AFC
(C) AC and AFC (D) ACand TVC
T ﬂmﬁmﬁﬁﬁm‘ﬁﬁﬁiﬁ“ﬁﬁ?ﬁ.ﬁﬂﬁﬁ%
(4) IFAITH Wffﬁ’f (B] H= A0
(C) T8 &ra (D) P9E ATE
The cost which is never zero even when production is stopped is
known as _
(A) Supplementary cost (B) Prime cost
(C) Explicit cost (D)  Implicit cost
|. 25A/12/103 | Page 2_? {40
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78.  Frafafigs § @ - @ vl F R uhadasie a2 2

(A) T WA (B) wiftrs fmtrm

€ M e (D) ==t A
Which of the following ils a variable cost for a firm ?
(A) Interest on loan (B} Monthly rent

(C) Insurance premium (D) Wages to employees
79. fafmdifRymas sh-mawd

Y a
=3

=

L

O > x

Friw (318 #)

(A) INwa dfEdaeiic @ivm 9% (B)  $o SREdvie @R 9%

() 3itwa B wra 5% (D) 3ted @TE T

Which of the following curves is the curve shown in the figure ?

o Cost(inRs) «
g

-+ X
Output (in units)
(A)  Average variable cost curve

(B) Total variable cost curve °
(C) Average fixed cost curve

(D) Average cost curve
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80.

ﬂﬁaﬂwmmqmﬁmxﬁmm#?ﬁmmﬂﬁmm?
(A) ﬁtﬁraﬂtaﬂngm (B) Aftw #f T
(C) mtﬁ_aﬁ{atmgan (D) IF2 S-HATHN FI

If the average revenue curve is a horizontal straight line then what
will be the marginal revenue curve ?

(A) Downward sloping (B) Horizontal straight line
(C) Upward sloping (D) Inversely S-shaped

81. fr=fafen § @ #a-w g andwmw & mwﬂm!?
(A) unfa g T ger Puim R ’
(B) #a H Hima § fimrae
(C) WM qew @t 1 919
(D) vIWa q @ IWRA
Which of the following does not come under microcconomics ?
(A) Pricing decision by Maruti Suzuki
(B) Fall in the price of oil
(C} Measurement of the general price level
(D) Production of foodgrains in India

O st # ¥ e = §
(A)  EET T arehtfaa wEET F5 TEYE 8 FA R
(B) mﬁrﬁﬁtﬁmﬁmmﬁammﬁm
(C) |ura W9 difta gavE =1 vy 8 s
(D) 9 Hifta s=o1ad B gt e A FA dqe wi
In :cﬂnnmics we study |
(A) How socicty manages its unlimited resources
(B) How to reduce our wants until we are satisfied

(C) How socicty manages its scarce resources
(D) How to fully satisfy our limited wants

(25A/12/103 Page 29 / 40

BiharboardQuestionpaper.com



https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/
https://biharboardquestionpaper.com/bihar-board-12th-question-paper-2025/

83.

84,

| 326 |
mﬂS,GGD@ﬁﬂﬁﬁﬁﬁiﬂmmmﬁmilﬁﬁM#m
firet €1

@) 30,000 ¥ WRWTE 399 @ wEE F ww d w R

i) 25,000 ¥R FfETE o W dew How & 77 # FH H

few Mo ot # IE WFE SR w7 A 2

(A) 25,000 %o (B} 30,000 %o

(C) 35,000 %o (D) 65,000%0

Rajesh is working at a salary of Rs. 35,000 per month. He receives

two job offers :

1) To work as an accountant at a salary of Rs. 30,000 per
month

i1) To work as a sales manager at a salary of Rs. 25,000 per
mornth.

In the given case what will his opportunity cost be ?
(A) Rs. 25,000 (Bl Rs. 30,000
(C) Rs. 35,000 (D) Rs. 65,000

ﬁéﬂﬁﬂﬁmﬁmﬁ.ﬁﬁﬁlmﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ
gitan &

.

B o

O = x
(A)  ardemaen # wvft Eaet @ e
(B) YA F FH IWEM
(C) 8 xh At THE TN T y B F w6 T 3w
(D) ¥ yH AF FFEE w0 TG T " eares
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In the given figure, the movement on the production possibility
curve from Point A to Point B shows

A
=
g B
»
O Good x

(A) Growth of all the resources in the economy

(B) Underutilisation of resources
(C) Production of more units of good x and less units of good y

(D)  Production of more units of good y and less units of good x

Tz ¥z 4 e 8

85.
A) @ T H 2w datew R e g T8 w8
(B) aﬁﬁ%émﬂmﬁ%aﬁtﬁﬂﬂ@ﬂaﬁﬁmﬁ
(C) aa@ﬁ%%mﬁéﬂmﬁ%maﬁmm%
(D) ¥ ¥ i 7
Budget set includes
(A)  All those ¢ombinations of two goods which a consumer
cannot afford
(B) All those combinations of two goods which a consumer is
willing to buy
(C) All those combinations of two goods which a consumer can
afford
(D) None of these
86. . Uahdl gig ¥ AR 1 NI Hger a9 SIH g R 9
(A) MU_> P, B) MU, <P,
(C) MU_= P, (D) MU, =P
In case of single commodity, consumer’s equilibrium is achieved
when
(A) MU >P, B) MU, <P,
| C MU, # P, (D) MU, =P
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87. Jerdirar o faserwy & wed § MRS ®1 34 ?
(A) e Wi (B) Hmra dafE
(C) mﬂﬁﬁrﬂiﬂnﬁwm] adfe 1 @ wiawa
In the context of indifference curve analysis, MRS stands for
(A) Marginal rate of substitution
(B) Marginal rate of satisfaction
(C) Marginal return of substitution
(D) Marginal return of satisfaction

88. mxaﬁﬁmmﬁm[wxj=ﬂ,yaﬁﬁmmﬁm|
{wyj=nqéywnﬁ9m%,ﬂﬂxaﬂqﬁéw%mmw
g ? |

(A) 9%o (B) 30 %o
@ 153 (D) 12 %0

If Marginal utility (MU ) of goods x = 0, Marginal utility [MUy] il

goods y = 0 and the price of y is Rs. 9, then what will be the pric
of x at equilibrium level ?
(A) Rs.9 (B) Rs. 30
(C)] Rs.15 (D) Rs.12
go. fa m fgm @ w9 @ 1 I f5as R 2 ?

O Aﬂaﬂl
(A) = 6 From o+ (B) &= < fiwa § g,
(€ Fon i Fma # 3fz D) FmBHmdF
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In the given figure, the rotation of budget line is due to
Y

B

7]

o o

3 %

g W
b
—p X

0 A A

Apples

(A) Decrease in price of apple
(B) Increase in price of apple
(C)] Increase in price of banana
(D} Decrease in price of banana

Q0. Y MW & umA 4 oy faft % swia feafafiaad @ feq sggi % fae
e T 2 2
(A) faw = (B) Y=
(C) BEg W A = (D) 919 U4 &i8 9 =4y
Which of the following expenditures are included under the
expenditure method of measuring national income ?
(A) Investment expenditure
(B] Pension
{C} Government expenditure on scholarship

(D) Expenditure on shares and bonds

91. fT=fafga & 3 $9-m =0 fdan f aomas Ay ad 2 2

(A} Ee "aR 6 fearnd (B) =l i diwr smEwEa
(-_""_-:_,--"f.-

(C) e H A9 (D) % T I

Which of the following is not a quantitative method of credit

control ?

(A Open market operations (B} Marginal requirement of loan
(C) Cash reserve ratio (D) Bank rate ratio
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4]
83

ufe merefifa

w1 Pafm s R & s

(Al SLR "z & 3 crR g2 2

(B}  SLR @i 8 3 CRR agrm #
(C) CRRIMSLRAA R wgra 2

(D) %8 | F1E

o

If inflation is to be controlled, the RBI

(A)  raises SLR and lowers CRR

(B) lowers SLR and raises CRR
(C]  raises both CRR as well as SLR

(D) none

93,

of these

(A)  F9 3@ I A A I 9w R

(B) 99 3 v w2 6 a=wq woners A 2
(C) 519 AT = & A I YA B o

(D) % W@ A & W@ T9E v w2

When consumption function intersects on the

indicates tha

(A)
(B) Saving
(C)
(D) Saving

94. I MPC = 1

Consumption is positive w

L

Consumption is zero when income is Zero

is negative when income is positive

hen income is zerg
is positive when income is zero

2, @ UIF T 9w R o

(A) O0d =W Bl 0 3
(B) ¥R 1%}513‘
€ © (D) ==
25A/12/103
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If MPC = 1, then what will be the value of multiplier ?
(A) Less than 0 (B) Between 0 and 1
(C) O (D)  Infinity

95, WA W FATARF AL ?
(A) I & weh g R (B) UK &1 %A gar B
(C) w=a Wearfia wran & D) 3ur 3k @ F gfe o R

What happens when interest rate goes down ?
(A) Decrease in consumption '
(B) Borrowing decreases

(C) Savings are encouraged

(D) Increase in borrowing and spending

96. Win H T T TP FA F TIwIAE 9@ 71 E P
(A) wEwEE o §
(B) w12 &t fam sgaeen
() wEwEtE =a d gfyg o w0 § =i
(D) ¥ & @i
What is a fiscal measure of correcting deficient demand ?
(A) Decrease in public debt
(B) Defcit financing

(C) Increase in public expenditure and decrease in taxes
(D)  All of these

97. @HY Hin 9% B

.-—""'_F._ -
(A) AR Ft AT TEAR (B) FW A1 3 gah1 BIW
(C) (AW (B) T (D) ¥ @ wrd 3
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Aggregate demand curve is

[326)

(A} downward sloping (B) upward sloping
(C) both (A} and (B) (D) nonc of these
98. wywhife smue feeshl 7 quiar @ 2

(A)  arogim =i (B)  fud =i

© of o () wH & HE

Deflationary gap shows the measurement of

(A) Deficient demand (B} Surplus demand

(C) Full employment (D) None of these

99. Frfafan # & ®R rowm wf adi 2 2
(A) = Tgeh (B) W& 3R gwiN
(C) T g (D) fadeh rgem
Which of the following is not a revenue receipt ?
(A)  Recovery of loans (B} Fees and fines
(C) Collection u::_t‘ taxes (D) Foreign grants
100. WA & F0 a9 F WE °eH 71 & ?
(A) U9 8§92 (B) s wwe
(C)  (A) 3 (B) A (D) ¥ ¥ w7
What is the correct component of the union budget of India ?
(A)  Revenue budget (B) Capital budget
(C} Both (A) and (B) 5 (D)  None of these
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WUT - ¥ / SECTION - B
Y WA WY / Short Answer Type Questions
WV §ET 1 ® 30 Ay why § 1 Pt 15w & g & 1 gw@w F R
2 3% i ¥ 7% 397 40 . 50wt ® ford : 15%x2=30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 gqueslions.
Each question carries 2 marks. Write your answers in 40 - 50 words each ;

15 x 2 =30
1, W€ TP (& I01E) agdl g @ w3m @ MP (€= 3ere) 1 #1 & 2

What will happen to MP (marginal product), when TP (total
product) increases at an increasing rate ?

2. fRr s & s w2

_ What do you mean by fixed factors ?
3. itadasfa @re & <) e df

Give two examples of variable costs.

4. feram e fafmg o d sy s 2 2

What is the difference between fixed and flexible rates of
exchange ? _

e OTg U fufEed 4 s oamm R ?

What is the difference betvieen cash credit and overdraft ?

6.  HIM 93k A4 391 T & 2

Why does demand curve slope downward ?
7.  WIEYE W@ 399 (SLR) frd wwd & 2
What is statutory liquidity ratio (SLR) called ?
8.  fois Hin 3% B & < weeayl F1N Y wamEy
State two important reasons by which excess demand is generated.

9.  dmra Ivd wgf 7 @ 2

What is marginal propensity to consume ?

10. = guen w1l 3w grd 2 2

Why does an economic ]:?;*nblcm arise ?

E'JI
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11.  aufp antams =) afonfa +:1)

Define macrocconomics,
12, JIeTEd |MTEAT 95 FW 21 AN uriaid @ar P

When does production possibility curve shift to the right ?
13.  uHIiR $ &) yen fadgand w=n & 7

What are the two main leatures of monopoly ?

14, I=aw $wa @1 Fufor @ w0 afora @ 2

What is meant by determination of price ceiling ?

15. *=ha &% % 2 wqw sl 9 = 7
Explain the two main functions of central bank.
16. WR F Fwe FR »
What is deficit budget ?
17. Qwﬁwﬂnﬁu}ﬁmﬁmmhmaaﬁaﬁhaﬁamml

Show the AR and MR curves in monopolistic competition through a
diagram,

18. =ANR wge 4 SF-H 7 w61 et & 7
Which items are.included in balance of trade ?

19. maﬁriﬁqmaﬁﬁﬁﬁ?ﬁmﬂ%mﬁtﬁmm%?

Out of the three concepts of revenue, which is also known as
price ?

20. ﬁﬂﬁm:ﬂ?mﬁmﬁ?ﬁﬁmﬁﬁﬁlhﬂaﬂtMRﬁﬂﬂmw
Ao

What are the shapes of AR and MR curve
at the same Fm:ct 7

21. W SgeE 0 b 2
What is market equilibrium ?

22. 39T IRV TR e arfwr &) whonfie g

Define normative economics with a suitable example,

s, when each unit is sold
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24,

25.

26,

27,

28.

29,

30.

wiarenaa &) diva o w gfonfia #i

Definc marginal rate of substitution.

T t@1 19 6 3w g Bt R P

Why does the budget line slope downward ?
whifo e qun sraehifie are o w1 R R P
What is the difference between inflationary gap and deflationary

gap ?
i3 ) 3 qgd gu am H qfd 9% F RO BOTE P

What is the reason for the backward bending labour supply curve ?

T g9 % Rl @) sevdl @ wHATSU

Explain any two objectives of government budget.
FAEES ITAT =R P

What is ordinal utility ?
& aEgH @+ a9y 2 P

What is meant by complementary goods ?

g fafyr & argEm win 6 Hwa e w9 w1 g7 R

Give the formula for measuring price elasticity of demand
according to percentage method.

T4 I U7 / Long Answer Type Questions
oY G 31 § 38 % 209 IAUT WA § | [FRT 4 UVAT & I & | A &
fw 5 siw Uit &1 91 397 99% 100- 120 =T A3 : 4 x 5 = 204

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 question:!
Each question carries 5 marks. Answer in 100 - 120 words each :

31. WO H T e 7 A B ARG g a0 Jvw g

Explain why an indifference curve is downward sloping and convex

-

to the origin.
el B e el g [l aeg bl qid @ Rl R 2 =men

P S—
W
Now is technolopical progress o determinant of supply of a guﬂ by
n fem ? Explam. -
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34,

37,

[ 52,
Teafy wrw Pram wan § 7 78wt o] e B 7 |
What is the law of diminishing returns ? Why does this law becorg,
operative ?
faf) fafawy 21 @) oftuifem ifao) fiar aon wiveged fafama 20 4 o,
#fan

Define foreign exchange rate. Differentiate between fixed zng
flexible exchange rates.

% F3-9d wdormen § sm %1 whra v wegn

Explain the circular flow of income in a two-sector economy,

AHY A F1 H4ed 4193 W J9T4 ) W3 GHEY)

Explain with diagram the effect of time element on equilibrium
price,
mwﬁmmmﬁmwwzﬁﬁmﬁmmﬁﬁw
ey § o

Flcﬁnc investment multiplier. J‘What is the relation between
:;:c;tr;::t 7}:' % ;];‘:'1:1' and marginal propensity to consume ?

ol & =T Wi o @ ) ot 2 onfva wn
A #1 of aaj F1 391 F)
Explain the law of demand with the help of diagram, Describe any
five factors that affect the demand for a commodity

faere i€ siv 3ie g sifbfaas
Y AUz, ATes UuR, ige-Hl,

UTeTHd, siied, ATd T, de- 39 e

IR & udten wea u= 3nfe & f3e...
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